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1 X(t) is unit step signal draw even and odd parts of

i K3 CO1 PO1
signal x(t).
2 | Find even and odd parts of signal )
X(t)=cost + sint + sintcost K3 Co1 PO1

3 | Examine whether the following signals are periodic
or not? If periodic determine fundamental period.
a) X(t)=2cos(3t+n/4) b) X(t)=cos(m/3)t+sin(m/4)t

) x(t)y=costtsinv2t ) x(ey=[sin(e ~ D]’ K4 col | ro;
e) x(n)=cos2mm f) x(n)=e (O
£) x(n)=cos4n h) x(n)=sin? + cos%rE

4 | Determine whether the following signals are Energy
or Power signals and calculate their Power or Energy PO1
) XM=~ u(t) b) x(t=u®)  ¢) x(t)=tu(t) K4 Co1

PO2
d) X(t)=e ¢ €) x(n)=(1/3)"u(n) f) x(@)=sin(%) n
5 | Find which of the following signals are casual or non
casual. ‘
a) x(t)=cos7t b) x(t)=sinl Itu(t) c) x(t)=u(t-2) K3 CO1 PO1
d) x(H=u(t+5)-u(t-2) e) x(n)=u(-n) f)x(t)=3sint
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